ENGLEFIELD CE PRIMARY SCHOOL

o ~ PROGRESSION IN CALCULATIONS POLICY

Sowing the seeds for a flourishing future

The following policy reflects our values and philosophy in relation to the provision and teaching of
mathematics. At Englefield CE Primary School it is our aim to provide a high quality mathematics education,
essential for everyday life, to enable all children to grow and flourish mathematically.

In order to do this, children need to be taught consistent and progressive calculation methods and the
mathematical language associated with them. For this reason, staff follow this progression in calculation
which is based on the National Curriculum for Key Stages 1 and 2 and White Rose Maths Calculation
Guidance.

A child may be taught a calculation method from a lower age group if that enables mastery. They must not
be accelerated through the content for higher year groups if they grasp a calculation method quickly.

Addition p2-6

Subtraction p7-10

Times Tables pll-16

Multiplication pl7-19

Division p 20—-27 (including fractions and percentages)

Management of Policy

School: This policy is implemented and managed by the Headteacher and all school teaching
staff.
Governing Body: The Governing Body (led by the Development Committee) will monitor, review and

update this policy.

Review: This policy will be reviewed in accordance with the agreed cycle of review or
whenever there is a need to comply with new legislation or codes of practice, new
initiatives, changes in the curriculum, developments in technology or changes to the
physical environment of the school.

Approved: July 2021

Next Review: Summer 2023



Addition

Year 1: Add 1 digit numbers within 10
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Year 1/2: Add 1 and 2 digit numbers to 20
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Year 2: Add 3 digit numbers
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Year 2/3: Add 1 digit and 2 digit numbers to 100
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Year 2/3: Add two 2 digit numbers to 100
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Year 3: Add with up to 3-digits
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Year 4: Add with up to 4-digits
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Year 5/6: Add whole numbers with more than 4 digits
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Year 5/6: Add numbers with up to 3 decimal places
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Subtraction

Year 1: Subtract 1 digit numbers within 10
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Year 1/2: Subtract 1/2 digit numbers to 20
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Year 2: Subtract 1/2 digit numbers to 100

At A A ity it A i A
i M Al 1,'111‘ ey B
65 a o o Ik et
A
? | 28 | [65-28=37

fens L 5 1 Tens ooqs,oa
seee I:_JC\ r':|
l I I,lj'll\g vorry | =28 Z,Z%z

o e 37 \ ggg%

Year 3: Subtract numbers with up to 3 digits
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Year 4: Subtract numbers with up to 4 digits
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Year 5/6: Subtract with more than 4 digits
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Year 5/6: Subtract with up to 3 decimal places
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Glossary

Addend - A number to be added to another,

Aggregation - combining two or more quantities or
measures to find a total.

Augmentation - increasing a quantity or measure by
another quantity.

Commutative - numbers can be added in any order.

Complement - in addition,a number and its
complement make a total eg. 300 is the
complement to 700 to make 1,000

Difference - the numerical difference between two
numbers is found by comparing the quantity in each
group.

Exchange - Change a number or expression for
another of an equal value.
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Minuend - A quantity or number from which another
is subtracted.

Partitioning - Splitting a number into its component
parts.

Reduction - Subtraction as take away.

Subitise - Instantly recognise the number of objects
in a small group without needing to count.

Subtrahend - A number to be subtracted from
another.

Sum - The result of an addition.

Total - The aggregate or the sum found by addition.



Times Tables

Year 2 Skill: 2 Times Table
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Year 2 Skill: 5 Times Table
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Year 2 Skill: 10 Times Table
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Year 3 Skill: 3 Times Tables
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Year 3 Skill: 4 Times Tables
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Year 3 Skill: 8 Times Tables
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Year 4 Skill: 6 Times Table
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Year 4 Skill: 7 Times Table
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Year 4 Skill: 9 Times Table
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Year 4 Skill: 11 Times Table
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Year 4 Skill: 12 Times Table
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Year 5: consolidate all knowledge of times tables facts and relevant division facts and recall at
speed

Year 6: use knowledge of times tables facts with multiples of 10, 100 and 1000
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Multiplication

Year 1/2: Solve one step problems using multiplication
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One bag holds 5 apples.
How many apples do 4 bags hold?
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Year 4: Multiply 3-digit by 1-digit numbers
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- v
8382°° 338
QO¢

Thowsands.

Th  H T O

18



Year 5: Multiply 2 digits by 2 digits
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Year 5: Multiply 5 digits by 2 digits
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Division

Year 1/2: Use one step problems using multiplication (sharing)
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There are 20 apples altogether.
They are shared equally between 5 bags
How many apples are in each bag'?
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Year 1/2: Solve 1 step problems using division (grouping)
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Year 2: Divide two digits by one digit (sharing with no exchange)

Year 3 — Divide 2-digits by 1-digit (no exchange sharing) — as Year 2

Year 3 — Divide 2-digits by 1-digit (sharing with exchange)
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Year 3/4: Divide 2-digits by 1-digit (sharing with remainders)
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Year 4/5: Divide 3-digits by 1-digit (grouping)
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Year 5: Divide 4 digits by 1 digit regrouping

| 8532+ 2 = 4,266 |

Year 6: Divide 4 digits by 2 digits
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Year 6: Divide multiple digits by 2 digits

Success criteria

1. List multiples of the divisor (are you going to do
repeated addition or partition and add?)

2. Divide

3. Multiply

4. Subtract

5. Bring it down...

6. ..and bring it on back!

Answer: 28-8
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Calculating with Fractions

Use common factors to simpli ractions.

Use multiples to express fractions in the

same denominator

Convert mixed numbers to improper
fractions

you can.
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Finding Percentages

To find 50%, 25%, 10% and 1% convert to fractions %, %, 1/10 and 1/100 and use the rule ‘divide by the

denominator’. Use a bar model to support this:

Mo uses a bar model to find 30% of 220

0%

J

10% of 220 = 22, so 30% of 220 = 3 X 22 = 66

Then extend to finding percentages of any amount:

Step 1 - First find 1%

1% = 1/100 so you divide by 100 (to divide by 100 move the digits two places to the left).

Step 2 - When you have found 1%, multiply the answer you got by the percentage. You will need to use long

multiplication of decimals.

e.g. Find 38% of £520 (which is the same as 38/100 x £520)

Step 1) Find 1% by dividing by 100 e.g. 520/100 = £5.20
Step 2) Then multiply the answer by 38 e.g. £5.20 x 38 = £197.60

38% of £520 = £197.60

Glossary

Array - An ordered collection of counters,
cubes or other item in rows and columns.

Commutative - Numbers can be multiplied
in any order.

Dividend - In division, the number that is
divided.

Divisor - In division, the number by which
another is divided.

Exchange - Change a number or expression
for another of an equal value.

Factor — A number that multiplies with
another to make a product.
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Multiplicand - In multiplication, a number to
be multiplied by another.

Partitioning = Splitting a number into its
component parts.

Product - The result of multiplying one
number by another.

Quotient - The result of a division
Remainder - The amount left over after a
division when the divisor is not a factor of

the dividend.

Scaling - Enlarging or reducing a number by
a given amount, called the scale factor



